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207 A FIOHEH] 11,200 11,200 0
02 & AHHE] 11,200 11,200 0

[ 2230t EHO0IX |SAE= 40,000,000 * 2JH4 = 14/100 11,200
301 LBtBAaz 6,400 1,895 4,505
10 SAIAHIENS 6,400 1,895 4,505

(0 =0l HE3s Al#N=s US4 80,000& * 10 = 6,400
303 Z&= 5,000 3,000 2,000
01 Z&3 5,000 3,000 2,000

[ SRIPCEE AU Ao 5,000,000& * 14! 5,000
307 2IZtold 30,000 20,000 10,000
05 CIZtREZ 30,000 20,000 10,000

[0 AlGle-life 823tus A W= 30,000,000& = 1A 30,000
AEHI2 El3t 502,650 226,120 276,530
201 Letg] 6,650 3,500 3,150
01 At 2teld] 6,650 3,500 3,150

O et~ 6,650

O LAN Jols A ¢ 100,000& = 500

O H3AolE +¢ 100,000& = 200

O HBHESR RE 100,000& = 400

O dHESIHSE 7Ol 1,500,000& = 1,500

O PRt +Y 4,000& » 20094 800

O StE =3+ #g 100,000& = S5MIE 500

O &X HAHI #E 200,000& = 2CH 400
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O utp AHole + 100,000& * 68 600
O SHEss ARE 7Y 50,000& * 53 250
O 2,383124 01013 gtoiel = 300,000& * 3=tA 900
O 2,382/124 JIIHEHOE 2 20,0002 * 308fA 600
207 AN 10,000 22,620 A 12,620
02 N AHHEH| 10,000 22,620 212,620
O ABA =2 AR HEESE 1 10,000,000& * 14l 10,000
405 XtobE S| 486,000 200,000 286,000
01 L =SFHSEHI 486,000 200,000 286,000
0 g8 d=H 2 1,300,000& = 200CH 260,000
O 822 dX SAHD 2L 3,000,000& = 6CH 18,000
0 g8 22y 2 800,000& =+ 20CH 16,000
O &30 WX 30,000& * 100CH 3,000
O IIEMd3I] W 500,000& * 20CH 10,000
O SAIESDI] 7Y 450,000 = 20CH 9,000
O S (=FH2H)LSSHEH wil 160,000,000& * 14! 160,000
[ S&sloa UpS #¢ 10,000,000& * 1CH 10,000
23 A 32,960 6,960 26,000
201 Letgd] 7,960 6,960 1,000
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O A EEZ2 &= 70,0008 * 7& * 43 1,960
O Z&UE &Y 1,000,000& * 53] 5,000
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[ Et===H] 12,000
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O =30t A8tk 42 M3 30,000& * 100 3,000
O ZE=0S I 24 1,000,000& * 2JHA 2,000
03 At2EHI 30,000 0 30,000
[0 B230ts NSS!l izl 30,000,000& * 13 30,000
207 HFONEH] 20,000 0 20,000
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Al 14,000
02 HAHHEHI 20,000 0 20,000
O SHIE XA 20,000
O ZE=0t= EHOIX EZAL 10,000,000& * 2JH A 20,000
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01 2o 30, 120 0 30,120
O XNEdEs 50|12 AS 80,000& = 7¥ = 12 6,720
[ XNEEB3 ANHWN= 80,000& * 5% » 12& 4,800
[0 8Hs daEH &3 20,0003 = 5% x 30 3,000
O ANZF 25 Z2EI|E AIAE 29 J=U= 80,000& » 2% x 12& 1,920
[T 29 U=x 80,000& * 4% x 15& 4,800
[ S8S MYIA ATEYNH X L HA 20,000& * 5% x 60 6,000
[ BBAAEZ20F H&Eg ZA 80,000& = 3% x 12 2,880
207 AR IOHEH] 189,367 147,278 42,089
02 HAHIHEHI 189,367 147,278 42,089
[ A2 HEEBAIAE KRB 420,000,000 = 8/100 33,600
[ 2AAL20AIAE SXES 48,000,000€ * 12/100 5,760
] BHOIAIAEY 53,900,000& * 10/100 5,390
O HESEFHMEEII(AERIX) 162,500,000& * 8/100 13,000
O ANZF 328 SSI|BAAE RAE24 595,203,000& = 8/100 47,617
O EHO0IX E&E24 e XAAH 2= 50,000,000& = 14 50,000
(0 ANEKs B8X AlAE 2= 30,000,000 = 14 30,000
O A& A UCCOIHE HIOIK 2= 4,000,000& * 14 4,000
405 RHatFESHI 41,000 25,000 16,000
01 XML EEFSHI 41,000 25,000 16,000
O GAZoA WHutet)| 2 2,000,000& * 14 2,000
[] SEPC BOtAIAE 2= 30,000& * 1,300H 39,000
HBE AT }EkA 130,870 110,540 20,330
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[PveOll CHEIS WERZ D& 50,000 50,000 0
405 RH&HFESHI 50,000 50,000 0
01 XML ESSF=HI 50,000 50,000 0

O WE/KIAEdSEH 2 50,000,000& * 14 50,000
IPESAIAE & 45,000 60,540 215,540
401 Al&HI LR OHYI 45,000 60,540 A 15,540
01 A&l 45,000 60,000 15,000

O HARA(SAH S, 15,000,000& * 34 45,000
3ol Al A/V AlAE 2R 35,870 0 35,870
201 LptEg] 5,390 0 5,390
01 AtR2teld] 5,390 0 5,390

O =l 5,390

O SH=2g g2 7,000 * 7 * 110 5,390
202 Oidl 14,480 0 14,480
01 LAY 14,480 0 14,480

O dMSAUEHIRSE Jlsll 80,000& » 3% » 10 2,400

O 3284 M)lsu=s 80,000& * 4% » 10 3,200

O ZESUSA AISH 20,000& * 29 * 150 6,000

[0 SHS, At SAlA 20,000& = 3H = 48 2,880
405 XH&HFESH| 16,000 0 16,000
01 XML ESESHSHI 16,000 0 16,000

0 2,38 324 010132 + 2,000,000& * 504 10,000

0 0ls8 3= 2 3,000,000 * 1CH 3,000
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SN B OP(EH) - NRAIY - BAS At ol e =2
OO XtEFdl 8,000
O SBANEXE |XHI( 8,000,000& = 1CH 8,000
202 O 4| 19,200 0 19,200
01 =LWHdl 19,200 0 19,200
O =M&M01 & A 80,000& = 5 * 52 * 23] 4,000
O JI5s2e u=s 80,000& » 59 = 42 * 2 3,200
O & =AAS 80,000& » 19 = 150 12,000
405 KH&HFSHI 2,000 1,000 1,000
02 T=AM7HI 2,000 1,000 1,000
O HENSAE &A 7 20,000& = 1003 2,000
E2 MLE At 464,294 230,830 233,464
201 el 17,078 0 17,078
02 =329l 17,078 0 17,078
O AIE&HIs bl 17,078
O &N=M AlAE 2= 101,121,000& = 8/100 8,090
O dN=EM AIAE (S 112,339,000& * 8/100 8,988
207 AR b 447,216 230,830 216,386
01 H2E9H| 380,000 200,000 180,000
O B&EJI=E= BB 300,000,000& * 14 300,000
O Z&IIE=2 BR= 80,000,000& * 14 80,000
02 N AR 67,216 30,830 36,386
O sy 48 XA 162,500,000& * 8/100 13,000
O XS ZAIAE SX2 308,300,000& * 10/100 30,830
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O K2 A AIAE(S/W) 23,386
O 22 45,000,000€¢ = 12/100 5,400
O AHEE 10,000,000 * 12/100 1,200
O 22H0IHER= 130,000& * 1,0762 = 12/100 16,786
HYSAHH(HESA D) 427,500 462,217 N34, 717
ol 2HY| 95,256 70,589 24,667
olHEIH|(HdE2SA ) 95,256 70,589 24,667
101 Q1 ZH| 89,856 70,589 19,267
02 =< 89,856 70,589 19,267
O xU2RE 89,856
O A2AZ RS 7,800& * 24H * 40AI2t * 12& 89,856
203 YR F=A&H| 4,200 0 4,200
04 ENSIHRF=EH 4,200 0 4,200
O d32Sd80 350,000& = 12& 4,200
204 MNP AH| 1,200 0 1,200
01 NS HRHAHH| 1,200 0 1,200
O d32SdNE 100,000 * 128 1,200
Jl23Hl 332,244 391,628 AB9,384
JI2dH(BESA 1) 332,244 391,628 A59,384
201 B2 HH| 321,244 320, 162 1,082
01 AtR2t2ld| 14,174 24,500 A10,326
O bet=EH| 14,174
O MU= P2 5,000& * 1008 * 4= 2,000
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AFRH A2 72 1,150
=200 7¢ 20,000& * 40% 800
SCAN 2 5,000& » 70X 350
SMAEX 2 18,0002 * 708fA 1,260
HHITH 288 7L 6,500
SAI EHE EH 250,000& * 104 * 33l 750
WA EH & & 200,000& * 504 * 23l 2,000
T2ED EH & & 250,000& * 504 * 33l 3,750
O Y2tk =g 12,000& * 65 * 128 864
O ZFEH 828 RY(stetiaa ) 60,000& * 108 * 43| 2,400

02 232944 307,070 11,408
O 3322 % HAl 180,500
O EHOIA &H=ol & SHMEIA OI8= 100,000& = 123 1,200
O S2HAMX MEIA Ol2R23 300,000& = 12& 3,600
O HUAZ 3| M (10Mops) 1,800,000& * 123 21,600
O Z&3o M23lH(ET) 2,600,000& = 12& 31,200
O &= ¢gddh 23 20,000& * 15CH = 12& 3,600
O QIS ZEANE 36 AIER 17,400
T —Al(512K) 1,200,000& » 13l& » 128 14,400
A —ZHB B AIE(9.6K) 50,000& * 534 » 123 3,000
O getdsies 35,000& * 9504 * 12& 39,900
O ANUEEERS 17,0002 * 2003l & * 12& 40,800
O elg4l(AsL)ol s 45,0003 * 23| « 128 1,080
O Olsdste= 100,000 = 2CH = 12& 2,400
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